
LET'S TIE IT ALL TOGETHER 
AND PUT IT TO USE. 





BTU







285 HP/ 200 kW at 1800 RPM 
Jacket water flow 110 GPM 
Jacket water temp 170-185F 
Heat Rejection 9690 BTU/ MIN



Water weighs 8.34 pounds/ gal 
1 Btu is heat to raise 1 LB water 
1 Degree F. 
110 Gallons x 8.34 = 917.4 LB. 
9690 btu/min / 917.4 LB Water 
= 10.56 Degree F.



So at Full Load if the water goes 
Into the radiator at 180F and  
Comes out 10.56F cooler the 
Radiator is working "Good 
Enough".



The mechanic said 14 degree F 
cooler.  
917.4 x 14 = 12,843.6 BTU's.



Text

Spec sheet says 9690 with 
A water cooled exhaust manifold!
Not the radiators problem. Perhaps something 
mechanical. 
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CUBIC INCH/61= Cubic Litres 
CUBIC LITRES x 61= Cubic Inch 

350 CID/61= 5.7L 
5.7L x 61 = 350 CID

























ANY 
QUESTIONS?



THANK YOU FOR 
ALLOWING ME TO SHARE



THE END


